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5.  What is the square root of

(085)2 + 070 +1

. ?
1l 19 295 +0197
e (a) 1
(b) % ‘ b 2
© 9 3 (¢) 3
(A
@ 99 e R

2. (x +4) is a factor of which one of the following |6  What is the number of digits in 240 ?

expressions ? (Given that log;, 2 =0-301)
(a) x°-Tx+44 @ 14 |

(b) ="+ 7x-44 ® 13

(© x*-Tx-44 © 12

d) x%+Tx+44 @ 11

3. If « and B are the roots of the quadratic

equation 2x% + 6x + k = 0, where k < 0, then (£ If one root of

2 _ 2 - =
what is the maximum value of < + E 7 (8" —fat+3) " +{da - Lx+2=0
a . is twice the other, then what is the value
; (a) 9 of ‘a’ ?
(b) -2 2
(a) 3
(¢ 9
2
d -9 - (b) -3
4, Consider the following statements : 7 (c) %
h If a=bc with HCF (b, ¢) = 1, then 1
HCF (c, bd) = HCF (c, d). d - 3
2. If a=Dbc with HCF (b, ¢) = 1, then

LCM (a, d) = LCM (c, bd). .
8. What is the remajx_lder when the number
Which of the above statements is/are correct ?

(4444)44 s divided by 9 ?
(a). . 1only Gy 4
(b) 2only ' (b) 6
(c) Bothland2 (r;) 7
(d) Neither 1 nor 2 (d 8

BLS-S-FDE (2-A)
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10
(a) gg
100
b et ey
(b) 99
¢ 9
d 99

(x + 4), F=fafea =t & @ e rEs
27

(a) x°—Tx+44

(b) x2;+7x—44

(@ x>—Tx-44

(d)  x%+7x+44

g o 3R p fgama arfietor 2x2 + 6x + k = 0, W&l
k<0% ¥ 4w &, @ %+g =7 aTfrhan T
TR ?

(a) 2

® -2

(c) 9

@ -9

Frafafaa oAt w fem i .

1. 3R a=be @ HCF (b,c)=1, @
HCF (c, bd) = HCF (c, d).

9. A a=be d HCF (b,c) =1, A
LCM (a, d) = LCM (c, bd).

ITYTH HAl H A AV T B8 ?
(a) whad 1

(b) A 2

(c) 13K 2t

@ Tar 1,382

(3-A)

.QK)2 ;
(0357 +070+1 , 419 = wiaw Rres TR

225
22
@ 1
(b) 2
(0 3
(d) 4
940 % 3eht ht Ten ferat B 2
(feam e 2 56 log, 2 = 0:301)
(a) 14
(b) 13
() 12
d 11

Tfe gHfierto (a2 - 5a+3)x% + (Ba—-1)x+2=0
1 T Y&l g e 1 g1 R, W ‘@’ 1 HE 41
22

2
(a) E

b -

| o

(c)

T

1
(d) ~5

S HEAT (4444)*44 1 9 F e fopan wmar
2, T SIS FAT TR ?

(a)
(b)
(c)
(d)

© =~ o
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bx2 —2ax + b equal to (b= 0)?

vhat is

(a) O
(b) 1
(¢) ab
(d) 2ab
What is the value of :
(443 + 547)2 + (443 - 547)2 .
443x 443 + 547 x 547
(a) O
(b) 1
(¢) 2
(3
E -
If x=t""1 and y=t'"1,t>0,t=1,then

what is the relation between x and y ?
(8) y*=xW

(b) xlfy - ylfx

(c) | X =5
(d) x¥=yl&
BLS-S-FDE

12.

13.

14.

15.

(4-A)

If A: B =3 : 4, then what is the value of the

. [8A2 448 5
expression | ———— | 7
3A — 4B
' 43
) Sl
@ 55
43
b)) -—=—
55
47
(C) E

(d) Cannot be determined

If A = {x : x is a multiple of 7},
B = {x : x is a multiple of 5} and
C = {x : x is a multiple of 35},
then which one of the following is a null set ?

(@ (A-BYUuC
(b) (A-B)-C

) (ANnB)NC
(d (ANB)-C

If x=2+223 4+ 21/3, then what is the value of
x3 —6x2+6x?

(a) 3
(b) 2
() 1
d o

If ‘/E=&4-+\{z and x«i-y=26, then what
y b X

is the value of xy ?

(a) 5

(b) 15
() 25
(d 30
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bx2 - 2ax + b ToFEh TE B (b= 0) ?

(a) O
(b) 1
(¢} ab
(d) 2ab

(443 + 5472 + (443 — 5472

o 443x 443 + 547 x 547 T e
(a) 0
(b) 1
() 2
(d 3
'y v
11, IR x=t'"1 MW y=tt-1, t>0,t=1, A
x 3R y%mWW% ?
(a) y*=x¥
Byl gl
@0 x¥=ypF
(d Y=y
BLS-S-FDE

12,

13.

14.

15.

- (5-A)

. 2
aﬁA:B=3:4,a‘rames[iA_-+_4BJ 1 °H

3A — 4B?
TR 7
(a) %
® - %2‘
© %

(@ Terren T8 S "R

I A = {x: x, 791 T TN g},
B = {x: x, 5 %l T U g} 3N
C={x:x,353ﬂ@ﬂmﬁf%},

o Frefafes & @ S fom gy 2 2

(a) (A-B)UuC

(b) (A-B)-C

@ (ANBNC

d AnNnB-C

afe x=2+22 4218 @ B _6x?+6x
H FT 8 ?

(a) 3
b) 2
() 1
@ o

Ilﬁ \/g=-2g4—+\/£ 3ﬂ'(x+y=26,?ﬁ Xy bl
y X

HHE 1§ ?

(a) b
B 15
(e) 25
(d 30
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tion 20. The pair of linear equations kx + 3y + 1 =0
x log,, k% J +logy 3 = logyy (2+39) +x? and 2x +y + 3 =0 intersect each other, if
(a) k=6
(a) 10 (b) k#6
b) 3 ¢ k=0
© 1 (d k=0
@ o :
121, The number of prime numbers ! ' 11 are less
than 100 is :
17. If oo and B are the roots of the equation (@) 24
x2 + px + q = 0, then what is o2 + p? equal to ? (b) 25
(a) p2 i 2(1 (c) 26
4 (d 27
(b) q“-2p
© p’+2q 22. The cost of a diamond varies directly as the
square of its weight. A diamond broke into
d q%-q four pieces with their weights in the ratio of

1:2:3: 4. If the loss in total value of the
diamond was ¥ 70,000, what was the price of

the original diamond ?
(a) ¥ 1,00,000
(b) ¥ 1,40,000

18. If a3 =335 +Db° and a =5 +b, then what is
the value of a + b (given that a>0and b >0) ?

(a) 7
(e) ¥ 1,50,000
(b) 9 (d) ¥ 1,75,000
(0 16
‘ 5
23. Inalo — m/s. If
@ 49 3 n a 100 m race, A runs at a speed of 3 S

A gives a start of 4 m to B and still beats him
by 12 seconds, what is the speed of B ?

19. If 9% 3Y =2187 and 2% 2% — 4% = 0, then R Y
what can be the value of (x +y) ? 4
(a) 1 ' (b) -g— m/s
() 3 4
() 5 e 3 s
@ 7 @ S

BLS-S-FDE (6-A)
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cwig) cw B)+x
FIETARIE ?
(a) 10
(b) 3
&l A
(d)
17. Hﬁaaﬂ'([},ﬁ:ﬁw:;2+px+q=0a3@§,
o + p2 formss ST 2 2
(a) p*-2q
®) q*-2p
(0 p%+2q
@ qo®-q
18. AR a®=335+1b% 3 a=5+b, A a+bH
TR e (e fFas>0aMb>0)?
@) 7 -
(b) 9
() 16
d) 49
19. 3afe 9%3Y=2187 3R 2% ¥ _4¥_o, @
(x + y) ST T 5T & Hehall & ?
@ 1
(b) 3
() 5
a 7
BLS-S-FDE 7=

sFevers

20.

21.

22.

23.

A)

e e THFT kx + 3y + 1=0 3K
2x+y+3=0@-@@9ﬁ%ﬁ5@%,
afe

(a)

(b) k%6
0 k=0
(d) #0

100 § SISt TH=T AT (prime numbers) ED|
T 7

(a) 24
(b) 25
() 26
d 27

M H T TWH T F T F IGET Ioq&
qREfdd BT 8 | T B0 IR HEI H gg T SR
ShSI o IS oI I 1:2:3:437 | ARG ER
% $ qed H T 70,000 HT THAW AT 7, q

R 1 IRfS qeg = o 2
(a) ¥ 1,00,000
(b) ¥ 1,40,000
(© ¥ 1,50,000
@ ¥ 1,75,000

100mﬁ&$‘qﬂ3ﬁ,A,gm/sﬁnﬁfﬁagm

2 1A A geT A B, 4 m 3 (I A
AR) ¥ AT Y& Har ¢ R O +ft A @
12§ ¥ & a1 8, A1 B AT FAT R 2

e

(a) 1 m/s
RORNCENE
() % m/s
@ g 1iilg
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rs each to do a
. . iumber of days
of 6 hours each that 21 women would take, if
3 women would do as much work as 2 men ?

(a) 18
(b) 20
(¢) 25
(dy 30

25. What number must be subtracted from both
the numerator and the denominator of the
fraction £ so that it becomes ¢ ?

35 3
(a) 6
(b) 8
0 9
d 11

26. A sum of T 8,400 was taken as a loan. This is
to be paid in two equal instalments. If the rate
of interest is 10% per annum, compounded
annually, then the value of each instalment
is
(a) T 4,200
(b) 4,480
(c) T 4,840
(d) None of the above

BLS-S-FDE

27.

28.

29.

30.

(8-A)

Leela got married 6 years ago. Today her age

is 1% times her age at the time of her

; .
marriage. Her son’s age is ﬁ-tlmes her age.

What is the present age of her son ?

(a) 1year

(b) 2 years
(¢) 3years
(d) 4 years

A and B working together can finish a piece of
work in 12 days while B alone can finish it in
30 days. In how many days can A alone finish
the work ?

(a) 18days
(b) 20 days
(¢) 24 days
(d) 25days

The values of x which satisfy the equation
51+% 4 51X = 26 are

(a) -1,1
(b) 0,1
(0 1,2
@ -1,0

If 5 men can do a piece of work in 10 days and
12 women can do the same work in 15 days,
the number of days required to complete the
work by 5 men and 6 women is

(a) 7% days

(b) 8days
¢ 9 % days

(d) 12 days
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_ ; W 6 HY
gfafer s g 21 o fohem fF & @@ =
urdrft, Ife 3 oftd, 2 AhEl % wW F T
M AT | 2

(a) 18
(b) 20
(e) 25

(d) 30

25. firm 21 % i ofi w0 N & @ et wen
werd e, R A S A
(a) 6
®) 8
© 9
@ 11

26. ¥ 8,400 TH G IR WA T 2 | g8 Q
SR TRt # gehran St 8 | A swafy s
H T 10% AT a9 3 I AfF T F QT ST
3, A I fohea 1 A AT R 2
(a) T 4,200
(b) ¥ 4,480
(c) ¥ 4,840
@ 39 F & HR A

BLS-S-FDE

27, ol @ a6 @ od gem o | e S

28.

29.

30.

(9-A)

(@

Y, 3G foae & wwa it g 1%g=ﬁ

%|3ﬁ%gﬁﬁaﬂg,wﬁmﬁfaﬂ:ﬁ%l
3G T ! FAdH Y R 2

(a) 199

(b) 294

(¢) 399

@ 45§
AaﬂTB@mwﬁ@wﬁsﬁmﬁqﬁ
TS L Hehd &, Jefh B 3hdl 39 S W

30 f&7 § T wehaT B | TRl H A gL A IH
% Wi fohae fe o wmTe o dehat § 2

(@) 18T
® 20 f&
(© 24 T
@. 25 fem

mﬂw 51+x+51—x=26 aﬁwmmﬁ

x % HH HAA € ?

(a) -1,1

® 0,1

() 1,2

~1,0

gfe 5 e wh R w10 T § W wwa &
At 12 3NTd et el Al 15 o § e et &,

A 5 ATGHT 3R 6 ARG I 1w Fraw & &
T HT 2

1
(a) 751"3?
(b) 8fe
© 9%1’&:
@ 12f=
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whose average speed exceeds that of the
passenger train by 15 km/hour leaves Mumbai
for Delhi. Two trains meet each other
mid-route. At what time do they meet, given

Delhi at 6 p.m.
express train,

that the distance between the cities is
1080 km ?

(a) 4 pm.

(b) 2a.m.

(¢) 12 midnight

(d) 6am.

32. In a class of 49 students, the ratio of girls to
boys is 4 : 3. If 4 girls leave the class, the ratio
of girls to boys would be
(a) 11:7
by 8:7
() 6:5
d 9:8

33. If a+b=5 and ab = 6, then what is the
value of a%+ b2 ? '

(a) 35
(b) 40
() 90
(d) 125

34. Rajendra bought a mobile with 25% discount
on the selling price. If the mobile cost him
¥ 4,875, what is the original selling price of
the mobile ?

(a) ¥ 6,300
(b) ¥ 6,400
(¢) ¥6,500
(d ¥ 6,600
BLS-S-FDE

35.

36.

37.

38.

(10=A)

A 225 m long train is running at a speed of
30 km/hour. How much time does it take to
cross a man running at 3 km/hour in the same
direction ?

(a) 40 seconds
(b) 30 seconds
(¢) 25 seconds
(d) 15 seconds

Which one among the following is the largest ?

7
(a) 'é"

11

14

3
(c) Z

10
13

(b)

(d)

The difference between the simple and the

compound interest on a certain sum of money
at 4% per annum in 2 years is ¥ 10. What is

the sum ?

(a) ¥ 5,000
(b) ¥ 6,000
() T 6,250
(d) ¥ 7,500

If a% of a + b% of b = 2% of ab, then what
percent of aisb ?

(a) 50%

(b)  T5%

() 100%

(d) Cannot be determined
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32.

33.

34.

BLS-S-FDE

(2Fevers ..

WWWWHlSkmedT&?ﬁEE%,
9p.m.‘3ﬂgﬁ§ﬁﬁ@%ﬁmaﬂ?ﬁ% IfFﬁ
tomteat aegant § twgm & e € | gl
Yermteat fea g fiert, af <l w=l & o
1 gt 1080 km 3 ?

(a) 4 pm.
(b) 2am.
() 129=/G
(d) 6 am.

& 36.

49ﬁmﬁﬁisﬁwsﬁmﬁ,ag%eﬁaagaﬁm
I 4: 3% | Afe 4 TefRAT wam B o 8,

A TSRl 9 Tl 1 TFATT FAT BT 2
@y AT
(b) 8:7
() 6:5
(d 9:8

Afe a+b=53HR ab=6,dl a°+ b3 H AR FA

q?

(a) 35
(b) 40
() 90
(d) 125

g 7 foshT gow W 25% §2 % WY TH |
38.

TeEe wie | afe 38 HieEa € 4,875 °
wler, d HeTEd S IR T gew w1 8 ?

(a) ¥ 6,300
(b) ¥ 6,400
(¢) T6,500
(d) ¥ 6,600

35.

37.

(11-A)

295 m T TH EME 30 km/ERT i TG B
= W} | ¥% T STEH W, S 3 km/Eer
Ty & Tt % wed 6 o § e wr g, 9

0 B Topaar aug @t 2
(a) 40 UFS
(b) 30 THTE
(c) 250%Ug
@ 15 9HUS
freffed § & S-a1 G w5 R 2
7
(a) -9-
11
(b) L
3
(C) Z
10 .
W o

T SR W 4% S o9 T A 299 H, '
q gl S H HFA T 10 § | AR o
77

(a) ¥ 5,000
(b) < 6,000
(¢) ¥6,250
(d) 17,500

e a T a% + b 1 b% = ab HT 2% B, @ a H
fopae wfaera bR 2

(a) 50%

(b) 75%

(¢) 100%

() Fepren &l S Hehal
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a village are

w

males. If 30% of the males are married, the
percentage of unmarried females in the total
population is

2
20=
(a) 5
2
b 27—
(b) 9
7/
) 27—
(c 5
2
d 29—
(d) g
40. Sunil wants to spend ¥ 200 on two types of
sweets, costing ¥ 7 and ¥ 10 respectively.
What is the maximum number of sweets he
can get so that no money is left over ?
(a) 25
(b) 26
(e) 27
(d) 28
41. What is the LCM of %3 + 8, %2 + 5x + 6 and
x3 +d4x2 + 4x ?
(a) xx+272(x+3)(x%2-2x+4)
b)) xx-2)2(x-3) (x2+2x+4j
(00 E+22(x+3)x2-2x+4)
d) x-22x-38)x2-2x+4)
42, The HCF of two expressions p and q is 1. What
is the reciprocal of their LCM ?
(@ p+q
(b) p-g¢q
- (e pq
@ (pg~1t
BLS-S-FDE

43.

45.

(12—A)

Whatiis the valueiof 3,f4£ ?
125

(a 1 g
(b) 1%
() 1 %
@ 2%

A thief is spotted by a policeman from a
distance of 100 m. When the policeman starts
the chase, the thief also starts running. If the
speed of the thief is 8 km/hour and that of the
policeman is 10 km/hour, then how far will the
thief have to run before he is overtaken ?

(a) 200m
® 300m
(c) 400m
(d) 500m

Aman and Alok attempted to solve a quadratic
equation. Aman made a mistake in writing
down the constant term and ended up in roots
(4, 3). Alok made a mistake in writing down
the coefficient of x to get roots (3, 2). The
correct roots of the equation are

(a) -4, -3
(b) 6,1
() 4,3
(d -6,-1
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(a) 20%
(b) 27%
(e) 27 %
(@ 29%

giid T 200 & FHR H fiEEd | @9 w0
wgal 8, TSl Toa HAE: T 7 9 710 B |
firargdl i 97 Aftehan @ #4417, 98 o9 @
g F0AT Y T & ?

(a) 25
(b) 26
() 27
d) 28
41. x> +8, X2 +5x+6 M x°+4x% + 4x H
LCM RIT 8 ?
(@ xx+22x+3)x2-2x+4)
(b) x(x-272(x-3)x%+2x+4)
© (x+2°%(x+3) x>-2x+4)
@ x-272x-3)x2-2x+4)
42. T =S} p 3R g HCF, 18 | 3% LCM &1
SR 13 ?
(@ p+q
(b) p-gq
() pq
@ (!
BLS-S-FDE

43,

45.

(13-A)

12

Y4 A W g2
(a) 1%
(b) 1%
(c) 1%
@ z%

T fauTdt 3w =R A 100 m F 8§ ol
fopa | o foardt 3 der S gE R, a1 9R
off wre @ | 3 IR A a8 knyEET 7 SR
forardt <t i 10 ke/eier 2, @ THS IH ¥ T

=Rt foraft gL W g 2
(a) 200m
(b) 300m
() 400m
(d 500m

I 3R e 4 Ue fgua wHieemn wi s
FH B A o6t | 37 A Faa vg formd v
Tt & 3R gW (4, 3) TR | T | x
%1 7Tk fora we Tedt a4 SR g (3, 2)
feprel | weftentor % T gt §

(a) -4, -3
b 6,1
(© 4,3
@ -6 -1
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_ rs, oneiseven.

2. Square of an odd integer is of the form
8n + 1.

Which of the above statements is/are correct ?
(a) 1only
(b) 2only
(¢) Both1land?2
(d) Neither 1 nor 2

47. The system of equations 2x+4y=6 and
4x + 8y =8 is
(a) Consistent with a unique solution
(b) Consistent with infinitely many

solutions

(¢) Inconsistent
(d) None of the above

48. (N®7'_1)is a multiple of p, if N is prime to p
andpisa
(a) Prime number
(b) Rational number
(¢) Real number
(d) Composite number

49. The ratio of two numbers is 1 : 5 and their
product is 320. What is the difference between
the squares of these two numbers ?
(a) 1024
(b) 1256
(c) 1536
(d) 1640

50.- 25 kg of alloy X is mixed with 125 kg of
alloy Y. If the amount of lead and tin in the
alloy X is in the ratio 1 : 2 and the amount of
lead and tin in the alloy Y is in the ratio 2 : 3,
then what is the ratio of lead to tin in the
mixture ?
(a) 1:2
(b) 2:3
() 3:5
d 7:11

BLS-S-FDE

51.

52,

53.

(14-A)

The mean of 5 numbers is 15. If one more
number the mean of the
6 numbers becomes 17. What is the included
number ?

is included,

(a) 24
() 25
(c) 26
da 27

The mean marks obtained by 300 students in
a subject are 60. The mean of top 100 students
was found to be 80 and the mean of last
100 students was found to be 50. The mean
marks of the remaining 100 students are

(a) 70
(b) 65
() 60
(d 50

Consider the follovying distribution :

Class Frequency
0-20 17
20-40 28
40 - 60 32
60 — 80 f
80 — 100 19

If the mean of the above distribution is 50,
what is the value of £ ?

(a) 24
(b) 34
(¢) 56
@ 96
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47.

48.

49.

50.

BLS-S-FDE

sfevert

4. AU Ehn A Kll"lil i R Y B TN B € J

2. THfamyies F ot H sn+ 1FFTH
fore ahd B |

39 FE § W BV T BR 2

(a) had 1

(b) had 2
3 el i

LN 4 QT

T LAE2

Wﬁw2x+4y=63ﬁ{4x+8y=8
(a) TH g & 5 1Y T @

(b) Fdd: - gl & ATy TE B

(c) oTETd 2

(d) SE H § HIS T

p I T o (NP1 - 1) R, Il N, p ¥ sy
2R pI TH

(a) STHSYT &

(b) YNET G

(¢) TTEdieeh EEE

(d) WTg g

S TEATRAT T I 1: 58 AR IR UEGA
320 8 | 39 & G % I & S 1 AW
R ?

(a) 1024

(b) 1256

(c) 1536

d) 1640

25 kg fsemg X @i 125 kg fmvrg Y & @19
fufda fomam e | =fe frsreng x & <fimn ok W
(81) 1 AT T A 1: 27 IR fazeg YH
dien 3fi T ol AET AU 2: 37, @ W
forsror & ot 3R M T 1EE = AR 2
(a 1:2

(b) 2:3
(e 3:5
@ 7:11

51.

52.

53.

(15-A)

5 TEATl w1 WiE 15 & | IR we 3R Hem
St WU, A 6 eI T ATET 17 8 W 7 |
N T HET TR ?

(a) 24
(b) 25
() 26
d 27

et fowg 4 300 feafiEt g wa fpw o
3i! w1 3fEd 60 8 | I8 &t & 100 il
% iRl w1 3MEd 80 T T 9AT fEh T H
100 fenfiat % st w1 ofEa 50 YRN T |
3y @ 100 faenfeial & it =1 3Ea fraaT g 2

(a 70
(b) 65
() 60
(d) 50
frfafaa ser w foem Hifse -
i el
0-20 17
20-40 28
40 -60 32
60 — 80 f
80 - 100 iS5

A I T H1 WL 50 B, A £ H AW HI
27

(a) 24
(b) 34
() 56
(d 96



http://upscfever.com
http://upscfever.com

55.

56.

57.

sFevert

our slices with
0°. A new pie
diagram is formed by deleting one of the slices
having angle 60° in the given pie diagram. In
the new pie diagram

(a) The largest slice has angle 150°

(b) The smallest slice has angle 70°

(c)
(d)

The largest slice has angle 180°
The smallest slice has angle 90°

In an asymmetrical distribution, if the mean
and median of the distribution are 270 and
220 respectively, then the mode of the data is

(a) 120
(b) 220
(¢) 280
(d) 370

Let a, b, ¢, d, e, f, g be consecutive even
numbers and j, k, I, m, n be consecutive odd
numbers. What is the average of all the
numbers ?

3(@+n)
(a) T
(51 +7d)

4 .

(a+b+m+n)

4
None of the above

(b)

(c)
(d)

An individual purchases three qualities of
pencils. The relevant data is given below :

58.

59.

Consider the following frequency distribution :

x | Frequency | Cumulative frequency
1 8 8
2 10 18
3 £ 29
4 fy 45

Quality

Price per
pencil (in T)

Money
spent (in ¥)

A

1-00

50

B

1-50

X

C

2-00

20

60.

BLS-S-FDE

It is known that the average price per pencil is
T 1-25. What is the value of x ?

(a) T10
(b) ¥ 30
(c) T 40
(d T60

(16-A)

What are the values of f; and f, respectively ?

(a) 10and 17
(b)
(e)

(@

17 and 10
11 and 16
16 and 11

If D is the number of degrees and R is the
number of radians in an angle 6, then which
one of the following is correct ?

(a) =D =180R
(b) =D =90R
(e) | 7R = 180D
(d nR=90D

What is the minimum value of

9tan?0+4cot20?

(a) 6
) 9
(e) 12
(d) 13
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56.

56.

517.

sFeverd

o @ % 60°
IV I T hl & F TH A9 JARG IR
TR | Y gARE | \

(a) T §S WOT &1 BV 150° 8
(b) TEH BT WT T BT 70° 7
(c) TR T HIT T HIT 180° 7
(d) . E=Y BT WO T HIT 90° B

Tk AT &ed |, 9fe 527 &1 71ed 9 A
I 270 F 220 8, TN AThSl 1 FgTH 991 3 ?

(a) 120

(b) 220
(e) 280
(d 3870

HHE ST a, b, ¢, d, e, f, g HATTT TH TEAT 3
3 j, k, I, m, n HATE e @ § | ot
TEAT3NT T ATE o1 8 2
3(a+n)

2
(51 +7d)

4
(a+b+m+n)

(a)

(b)

(c)
4
@ I95H Y B T

w safrd O SR 6 IR wlhear § | gug
oitn3 1 fog e #

I @ i
TR g (2 W) rrﬁT(%‘%

A 1-:00 50
B 1-50 X
C 2:00 20

I 71 7 o6y Gt %1 afted qeg T 125
Bl xHI AR TG ?

(a) T 10
(b) %30
(e) T40
(d Te60

BLS-S-FDE (17

58. ﬁm%%amdamﬁanﬁﬁq:

1 8 8

2 10 18
3 fy 29
4 £y 45

f, 3T £, % AT HAN: T8 ?

(@ 10317
(b) 17 3R 10
(€ 11316
d 16311

59. uf: feft Fror 0 F, D stw I qen R WA
# g 7, @ Fefafed # @ s gey o
27 |
(a) nD=180R
(b) HD:QOR
(¢) =R =180D
(d) =R =90D

60. 9 tan? 0 + 4 cot® 0 %1 FUdH A T 8 ?

(a) 6
b 9
() 12
(d) 13

)
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sFevers

, then whatis |gx
472 (x2 + y?) equal to ?
@ 2+y??
b E-y??
) -y23
@ (x2+y2)?
62. If cos 6; + cos O, + cos 05 = 3, then what is
sin 6, + sin 6, + sin 65 equal to ? d.
(a) 0
b 1
e 2
d 3
63. What is the value of 6 which satisfies the
equation cos B +tan =1 ?
(a) 0°
(b)  30° 67.
(c) 45°
(d) 60°
64. What is the value of
sin x ‘] 1 + = ?
l+cosx 1-cosx
(a) 2
(b) 242
() +2tanx
@ o
BLS-S-FDE (18-A)

cos* A - sin? A

What is = ey equal to ?
(a) cos®A-sin?A

(b) cosA-sinA

(¢ 1

d 2

If 7sin2x+30082x=4, 0 < x <90° then
what is the value of tanx ?

(@) 2
b 1
3
(c) 7
1
d Bl
(d) 78

An aeroplane flying at a height of 300 m above
the ground passes vertically above another
plane at an instant when the angles of
elevation of the two planes from the same
point on the ground are 60° and 45°
respectively. What is the height of the lower

plane from the ground ?
(a) 10043 m
100
by —F&—
J§ m
(¢) 5043m
(d 150(v/3+1)m
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62.

63.

sFevers,

e YIRS LR R [l

(a) x%+y2)3

LE A TN Tt T T SC Y

b) &2-y2)2?
) (x2-y??
@ &2+yH?

Hﬁcos@l+cosez+cose3=3 %,

@l sin 6, + sin 6, + sin 6, T T 2

(a) 0
b)) 1
() 2
(d 3

6 1 SHIF-GT AH HHIHT cos 6 + tan 8 = 1 I
IR AT 8 ?

(a) O°

(b} 30°

©) 45°

d 60° i

64. sin X\/1+;lo.sx+i—t:3losx 1 HH FIT 8 2
(a) 2
b) 242
(c) +J2tanx
d o
BLS-S-FDE

65.

66.

67.

(19-A)

(a) 2
() 1
V3
(C) 7
1
d ey
(d) 7

4 '
cos" A —sin” A ok
TR 8 7
c0s?A — sin?A

(a) - cos? A — sin? A
(b) cosA—sinA
) 1

d 2

qﬁ'7sin2x+3coszx:4,0<x<90°%,?ﬁ
tan x ST |19 T 8 ?

T AT ST, S UGl @ 800 m W ST W
35 @1 B, fhfl &1 | uF @ g Tw
FHEATEE S H TSRAT 8 | 39§ W Gl & Th
# forg & QF g% SRS 6 I HIU FHEM:
60°d 45° A | I I TR TEH H G H
A w2

(@ '100¥3m
100

b o=

(b) ) m

(¢ 5043m

(d 150 (43 +1)m


http://upscfever.com
http://upscfever.com

sFevers

LVLLGLL YWWLlAU 1D A T ¥

sin 6 — b cos 6,

Cyualr vu

(a) 2ab
(b) a+b
() a%+Db?
d a%2-1b?

69. From the top of a building 90 m high, the
angles of depression of the top and the bottom
of a tree are 30° and 45° respectively. What is
the height of the tree ?

(a8 304/3m

(b) 90-30v3m
(© 90+3043m
(d 60+30v3m

70. Which one of the following triples does not
represent the sides of a triangle ?
(a) (38,4,5)

() 4,7,10)
() (38,6,8)
d (2,3,6)

71. If the perimeter of a rectangle is 10 cm and
the area is 4 cm?, then its length is
(a) 6cm
(b) 5ecm
(¢) 45cm
(d 4cm

‘BLS-S-FDE

72.

73.

74.

75.

(20—A)

(d)

The angles of a triangle are in the ratio
2:4: 3. The smallest angle of the triangle is .

(a) 20°
(b)  40°
(¢) 50°
(d) 60°

A ball of radius 1 cm is put into a cylindrical
pipe so that it fits inside the pipe. If the length
of the pipe is 14 m, what is the surface area of
the pipe ?

(a)
(b)
(c)
(d)

2200 square cm
4400 square cm
8800 square cm

17600 square cm

The areas of two circular fields are in the ratio
16 : 49. If the radius of the bigger field is 14 m,
then what is the radius of the smaller field ?

(a)
(b)
(e)

4m
8m
9m

10m

Let ABCD be a rectangle. Let P, Q, R, S be the
of sides AB, BC, CD, DA
respectively. Then the quadrilateral PQRS is
a

mid-points

(a) Square
(b) Rectangle, but need not be a square
(c) Rhombus, but need not be a square

(d)

Parallelogram, but need not be a
rhombus
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69.

70.

severs

27
(a) 2ab
(b) a+b
(c) a?+b?

(d a%2-p?

foret 90 m F+ft U TAMG & MY ¥ UH gW H
3 3 99 & ITEIHEA R HAN: 30° W 450
2 198 i J=E 18 ?

(a) 804/3m

(b) 90-30+3m
(© 90+304/3m

(d 60+304/3m

fiferfan § & @-ar B & Byw & gl
1 7FT i B ?

(a) (38,4,5)
(b) (4,7,10)
(e (3,6,8)
d (,3,6)

71, af TH oG H UREN 10 cm 3 G

BLS-S-FDE

4 cm® R, A IEhHT SIS FAT R ?
(a) 6cm |
(b) 5cm

(c) 4:5cm

(d) 4cm

72. Tordlt Brge & il o1 U@ 2:4:38 | 39

73.

74.

75.

(21-A)

B3yt <1 wad Bler Hor B
(a) 20°
(b)  40°
() 50°
(d 60°

foref SeTRR 91ET 7 1 em B areft w7
Treft 7% & S 35 g aE fhe € Wt ® | 3
ST 6 TS 14 m B, AT AT HT T BB
fram g ?

(8) 22009 em
(b) 4400 T em
(©) 8800 em
(d) 17600 T -

& IR @l & &AHAT BT STIIT 16: 49 8 |
2 9% Qd 6 B 14 m B, @ SR QT H
e ?

(a) 4m
(b) 8m
(¢ 9m
(d) 10m

T oifTT ABCD T 3TR@ 2 | e yeiieit AB,
BC, CD, DA % Hea-fomg swel: P, Q, R, S &, I
Ig4s PQRS ¥ 8 ?

(@ ot

(b) 3R, foheg ot BT Stevaes &

(0 wEgys, fhg ot g1 stravass Al

(d) wHIR wgyw, frrg Tregye B e
B
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¢Fevenﬁmmm,

CA respectively of a triangle ABC. If the area
of the triangle ABC is 5 square units, then the
area of the triangle PQR is

(a)

5 ;
3 square units

(b)

square units

2J_

(c) g square units

(d) 1 square unit

77. 1If each of the dimensions of a rectangle is
increased by 200%, the area is increased by
(a) 300%

(b) 400%
(¢) 600%
(d 800%

78. 'Three circles each of radius 35 ¢cm touch one
another. The area subtended between them
is
(@) 6(/3rn-2) square units
(b) 6(2n—+/3) square units
(e) % (24/3 — ) square units
@ (8- square units

BLS-S-FDE

79.

80.

81.

(22-A)

The area of a regular hexagon of side ‘a’ is

equal to
(a) g a? square units
(b) SJ— SR o square units
- ,
(c) 5 a“ square units
3 o :
(d) o a“ square units

ABCDEF is a regular polygon. Two poles at C
and D are standing vertically and subtend
and 60° at A
respectively. What is the ratio of the height of

angles of elevation 30°

the pole at C to that of the pole at D ?

(@ 1:1

(b) 1:243
(@ 243 :1
d 2:48

Two parallel chords of a circle whose diameter
is 13 cm are respectively 5 cm and 12 cm in
length. If both the chords are on the same side
of the diameter, then the distance between
these chords is

(a) b55cm
(b) Bem
(¢) 35cm
(d 8cm
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/F fﬁ/
’ el/ef 19 AB, BC,|79. Th W WCUW FI dwhel, R g oo R,

. I fopa TR 2 2
ABC T §%a 5 o1 318 8, O Brgs PQR &7

et e 8 2 @ L a2 gt
@ = - %azaﬂm
) E%aﬁsﬁé © 3 a? g

© 2 =t | ey ga%ﬁsﬁé
(@ 1o 5T

80. ABCDEF Ush @H &84S 8 | CddT DW & @%
eIt WS §, S A T HAY: 30° 3 60° F
77. e Rt o Aty Yo I AW H 200% SHE HI ARG @ E | C W @ @Y &

ST TG L5 IRFTRL ATl 5, I 2 SuTE oK DR @ @Y I S 1 I R
(a) 300% 77
(b)  400% ' (@ 1:1
(©)  600% | (b) 1:248
(d) 800% . © 243 :1
@ 2:48

78. @ @, Rl ¥ vo% B B 35 om 2,
THGE T K § | I A ofald (g1, wH gw, R @ 13 om B, B A GHRR

e TR 8 2 et st TS FHE: 5 om 3K 12 cm £ | AR
) BT W Al ST I % Th & W B, af 5 Sersi
% = ft gl fhat 2 2
) 6(2n—+3)a g &Y EEs
(c) %(2\/5—1:)3'#3% (b) 5em
. () 35cm
(d) %(ﬁ—n)aﬁwr& @ 8am

BLS-S-FDE (23-A)
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LUIIVLTADGU MY /U YYLULLIUWL liive L.-c.\.a'ing itS height,

cular cone is

then what is the percentage increase in the
volume of the cone ?

(a) p?
(b) 2p?
2
B
() 100
d 2+ 2
(d) p( 100]

83. A copp;er wire when bent in the form of a
square encloses an area of 121 cm?. If the
same wire is bent in the form of a circle, it
encloses an area equal to
(a) 121 cm?

(b) 144 cm?
(c) 154 cm?
(d) 168 cm?

84. ABC is a triangle and D is a point on the side
BC. If BC=12cm, BD =9 cm and
ZADC = « BAC, then the length of AC is
equal to
(a) 5cm
(b) 6cm
(c) 8cm
(d 9cm

85. If the surface area of a sphere is reduced to
one-ninth of the area, its radius reduces to
(a) One-fourth
(b) One-third
(c) One-fifth
(d) One-ninth

BLS-S-FDE

86.

87.

88.

(24-A)

In a trapezium ABCD, AB is parallel to CD
and the diagonals intersect each other at O.
What is the ratio of OA to OC equal to ?

(a) Ratio of OB to OD
(b) Ratio of BC to CD
(¢) Ratio of AD to AB
(d) Ratio of AC to BD

Ice-cream, completely filled in a cylinder of
diameter 35 ¢m and height 32 cm, is to be
identical
disposable cones of diameter 4 cm and height

served by completely filling

7 cm. The maximum number of persons that

can be served in this way is

(a) 950
(b) 1000
(© 1050
@ 1100

The radius of a circle is increased so that its
circumference increases by 15%. The area of
the circle will increase by

(a) 31-25%
(b) 32-25%
() 3325%
(d) 3425%
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83.

84,

85.

BLS-S-FDE

@ p[z+lj

sfevers

S 1ATY] pYo SIGI Gl VNIY, dl X % 3TEa o

fepem witrere gfg 2t 2 2

(@ p?

(b) 2p2

R -

100

gf¢ dfe & Teh dR I ot & ®9 § A1 76T 2,
3T 121 em? &% UREg BT & | Ffe gel
qR S Th 99 H €9 F g S 2, q@F 59%
g1 afteg ket fopaan @ 2

(a) 121 cm?

(b) 144 cm?
(¢) 154 cm?
(d) 168 cm?

ABC Th Bryst @ 3R ¥ BC W w fog
D%IqﬁBC=12cm,BD=9cm3ﬁT
Z ADC = / BAC %, @1 AC ! &vaTs &1 Bt 2
(a)
(b)
(¢) 8cm

(d)

g frdt M w1 ylg AAed HeER IEk
A% 1 A& fgE frn wmar ®, @ saeR
Freen feralt w2 st 2

(a) UeH-=TE

(b) TH-famTE

(c) U Wl Ui=ar feemn
(d) T A& Fem

5 cm

6 cm

9cm

86.

87.

88.

(25-A)

T "uas (¢fifsem) ABCD #, AB 3k CD
TR # it fashol wh-gm i frg 0 W e
21" 0A 3R OC =1 31U FReesh sRIe 2 2

(a) OB 3R OD T U
(b) BC 3R CD %1 FUTd
(¢) AD 3T AB &1 31U

(d) AC 3R BD &I 3{UTd

s sSor (faferst) &1 =@ 35 em 3t =g
32 cm ®, S STEWHM & QU WU gaN } | U@
el # gl e WE S 8, R s
4cm3ﬁ'{°@1§7cm% | afeaat 1 98
ATehay TEAT T 7, N8 30 YR IEEHH
U ST Gh 2

(a) 950

(b) 1000 -
(c) 1050
(d) 1100

T g9 HI B T T Sew saeht oftfy &
15% ! 9fg g8 | 39 % &7%a ¥ fraft iy
gt ?

(a) 31-25%
(b) 32-25%
() 3325% .
(d) 34-25%
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sFevers

onals AC and |[91. In the figure given below, D is the diameter of
BD intersect at O. If AB = 32 cm and each circle. What is the diameter of the shaded
AD = 24 cm, then what is OD equal to ? circle ?
(a) 22cm
(b) 20cm
(c) 18cm
(d 16cm
(a) D(2-1)
90. A field is divided into four regions as shown in
: : () D((2+1)
the given figure. What is the area of the field
in square metres ? © D(2+92)
2m 2m d DE@-+2)
| O
1m
%4;9’
2 Sm 92. In the figure given below, AC is parallel to ED
B and AB = DE = 5 cm and BC = 7 cm. What is
the area ABDE : area BDE : area BCD equal
3m to?
E 5 cm D
(@ 6+245
4
A 5 cm B 7 cm C
(b) b5+ %\E
(a 10:6:7
(c) '9+%Jﬁ (b) 8:4:7
fey 2:1:2
@ 7+242 d 8:4:5
BLS-S-FDE (26-A)
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BD TG
H O W HFI E | AR AB = 32 cm IW
AD =24 cm ®, a1 OD fores sy & ¢
(a) 22cm
() 20cm
(c) 18cm
(d) 16cm
90. T Wd (Fics) 1 AR &t § il fapen
8, &1 6 § 7w anepfa ¥ gl mn | @9
(Freg) 1 Gt ot et # fora & 2
2m 2m
L1
1
N~ =
u 2m
3m
3m
3m J
(a) 6+§~f5_
(b) 5+§J§
@ 9+ S5
4
@ 7+2+2
BLS-S-FDE

sFevers

91.

92.

(27=A)

9% @ mE ST H, S 99 B e DR |
SR I T ST T & 2

(a) D(J/2-1)

b)) D2+1)

(¢ D(J2+2)

d DE-+v2)

f= € 7 sl #, AC ot ED gur §, aik
AB=DE=5cm dN BC=7cm 32 |
§7%d ABDE : &%al BDE : &% BCD
forereh s R 2

E 5em - D

A 5 cm B 7 cm C

(a) 10:5:7
(b) 8:4:7
(¢) 2:142
(d) 8:4:5


http://upscfever.com
http://upscfever.com

94,

BLS-S-FDE

sFeverd

bisects angle S. What is angle PAS equal to ?

7

(a)
(b)
()
(d)

60°
75°
90°
100°

In the figure given below, ZA = 80° and

Z ABC = 60°. BD and CD bisect angles B and
C respectively. What are the values of x and y
respectively ?

A

(a) 10 and 130

(b). 10 and 125
() 20 and 130

(d) 20 and 125

, PQRS 1is a
parallelogram. PA bisects angle P and SA

95.

(28-A)

In the figure given below, PQR is a
non-isosceles right-angled triangle, right
angled at Q. If LM and QT are parallel and
QT = PT, then what is £ RLM equal to ?

P
T
M
Q i R
(a) <ZPQT
(by ~ZLRM
(¢ ~ZRML
(d «QPT

In the figure given below, PQ is parallel to RS
and PR is parallel to QS. If « LPR = 35° and

"~ £ UST = 70°, then what is £ MPQ equal to ?

(a) 55°
(b) 70°
(c) T5°
(d) 80°
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(sFeverd
Ju” el/er I Sgee |95, A & T ol §, PQR w Rrwwfiarg Wb
3 et favnfor

By 8, R o1 @ wmeniv ® | R LM ik

HAl 2 | DI PAS forEeh SR 2 2 QT THT<R g 99T QT = PT 8, d ~ RLM freh
T B ?
P | Q P
A XL,
M
S R
Q 1 R
(@) 60° (a) ZPQT
(b) 75° - (b) <LRM
) 90° (¢) < RML
(d) 1000 (d) Z QPT

96. 9 § TS Ifa #, PQ AR RS THRR &
94, ¥ & T PR H, LA =800 iR PR 3R QS AR & | 3 ~ LPR = 35° 3k

ZABC=60°% | BD 3R CD sH¥: ®Iv B 3R £ UST =70°%, a2 MPQ fopes o 2 7
®07 C bl fgwifom &t € | x o y & Ow
SHAYT: 31§ ?

A

(a) 10 3R 130

(b) 103K 125 (a) -56°
(¢ 203 130 :E)) ;g
@ 203125 , @  80°

BLS-S-FDE (29-A)
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C is a triangle

sFever

triangle ABC such that £ DAC = £ DCA.
B

A C
Consider the following statements :
1.  Triangle ADC is an isosceles triangle.
2: D is the centroid of the triangle ABC.

3. Triangle ABD
_triangle CBD.

is congruent to the

Which of the above statements are correct ?

(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only
(d 1,2and3
98. In the figure given below, M is f;he
mid-point of AB and £ DAB = ZCBA and
Z AMC = # BMD. Then the triangle ADM is
congruent to the triangle BCM by
C D
A M B
(a) SASrule
(b) SSS rule
(¢) ASArule
(d)  AAArule
BLS-S-FDE
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ABCD is a square. X is the mid-point of AB
and Y is the mid-point of BC.

Consider the following statements :

1. Triangles ADX and BAY are congruent.
2. £ DXA=/AYB.

3. DX is inclined at an angle 60° with AY.

4. DX is not perpendicular to AY.

Which of the above statements are correct ?

(a) 2,3 and 4 only
(b) 1,2and4 only
(¢) 1,3 and 4 only
(d) 1and2only

From an aeroplane vertically over a straight
horizontal road, the angles of depression of
on the
opposite sides of the aeroplane are observed to
be o and B. The height of the aeroplane above
the road is

two consecutive kilometre-stones

tan o + tan B
tan o tan B

(a)

tan o tanp
tana +tan

(b)

cot o cot B

tel cot o + cot B

cot o + cot P

L cot o cot B
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1. Brst ADC = wwfgamg fiyw 2 |

2. PIYSI ABCH $gH DR |

3. s ABD R iy cBD walfmem § |
39 Al H T HHY T F 2

(a) haw 13 2

(b) Had 231N 3

(¢) hael 13X 3

(d 1,2 3MW3

{18 sl d, AB 1 weafaeg M R @en
Z/DAB=/CBAR 3R L AMC=~/BMD ? |
a9 Brys ADM 3R iy BeM frm fam @
FaiTEy § 2

: C D
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A M B

SAS =™
sss g
ASA Tem
AAA T
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(b)
(c)
(d)
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ABCD T% 911 & | AB &1 Hea-famg X 8 o1 BC
w1 Aefog YR |
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1. Fs ADX 3R BAY wafmem € |

2. «ZDXA=/AYB.

3.  AYd @19 DX, 60° % hIv 9T T B |
4. AYW DX ¥ T8l § |

9 HoEl H A B wd € 2

+9d 2, 3 31 4
+ad 1,2 3N 4
+ad 1,3 37 4
Fad 1371 2

(a)
(b)
(c)

(d)

T it @few e & e SN v gar
SR |, € ShUTTa fSheliet % geerl, St &aTs
e & faodia feamett # €, % s #ivr o
3R p e e 7T § | Heh % HW gaTd e
S FT R ?

tan o + tan
tan o tan 8

(a)

(b) tan o tan B

tan o + tanp

cot o cot
cot a + cot B

(c)

cot o + cot B

(@ cot o cot B
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Note : English version of the instructions is printed on the front cover of this Booklet.
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